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Question Id : 92090622066 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time :

Question Numbers : (1 to 5)

Question Label : Comprehension

Mohile phones in India are ubiquitous — over a billion subseribers. They serve as
touch points for multiple needs. Consequently attempts to get people to part with
their phone number, often through dubious means, are common. One such example
is to get customers to share their phone number to bill retail purchases. It's often
done by linking it to the billing system even when it serves no purpose in
concluding a transaction. Times of India reported that this method of violating
personal data privacy may soon end as the consumer affairs ministry is expected to
issue an advisory to stop it.

It's a much-needed move. But it doesn’t solve the core problem. Invasion of data
privacy is not limited to consumer transactions. It's far wider in scope. The only
way to check it 1s to legislate a comprehensive personal data protection law. Absent
that, any solution is at best a piecemeal effort. India has lagged in this aspect. As a
result, the explosion of digital activity has been accompanied by a surge in
extracting personal data without consent.

Government of India began the ongoing process of enacting a personal data
protection law in 2019. It's gone through many iterations. The hll needs to be
introduced in the next parliament session. India’s data protection framework
should strongly emphasise two principles, data minimization and purpose
limitation. The former 1s the first line of defence against abuse as data collection
needs to be limited to just what's relevant to conclude a transaction. The principle
of purpose limitation then seeks to ensure that data collected 15 used for only the
stated purpose. While the intent of the consumer affairs ministry is positive, it
alone can't ensure Indian’s data privacy.

Sub questions

Question Number : 1 Question Id : 92090622067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the meaning of the term ‘ubiquitous’ from the options given helow:

(1) Formal pledge or promise (2) Spend too little
(3)  Being the best (1) Found everywhere
Options :

92090687201. 1
92090687202. 2
92090687203. 3
92090687204. 4



Question Number : 2 Question Id : 92090622068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Antonym of the term ‘Dubious’:

(1) Doubtful (2) Hesitating
(3) Reliable (4) Valuable
Options :

92090687205. 1
92090687206. 2
92090687207 3
92090687208. 4

Question Number : 3 Question Id : 92090622069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ¢

Statement | : Invasion of data privacy is not limited to consumer
transactions.
Statement I  : The only way to check it 1s to legislate a comprehensive

personal data protection law.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
{3y Statement | 1s true but Statement 1l is incorrect

{4) Statement 1 iz false but Statement I1 is correct

Options :

92090687209. 1
92090687210. 2
92090687211. 3
92090687212. 4

Question Number : 4 Question Id : 92090622070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Times of India reported that this method of violating personal data privacy

may soon end as the consumer affairs ministry is expected to issue an to
stop it.
(1) order (2) decision
(3) advisory (4) ordinance
Options :

92090687213. 1
92090687214. 2
92090687215. 3
92090687216. 4

Question Number : 5 Question Id : 92090622071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph, who can’t alone ensure India’s data privacy?

(1)  Ministry of Information and technology
(2) Education Ministry
(3) Consumer affairs ministry

(4) Labour ministry

Options :

92090687217. 1
92090687218. 2
92090687219. 3
92090687220. 4

Question Id : 92090622066 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension



Mohile phones in India are ubiquitous — over a billion subscribers. They serve as
touch points for multiple needs. Consequently attempts to get people to part with
their phone number, often through dubious means, are common. One such example
is to get customers to share their phone number to bill retail purchases. It's often
done by linking it to the billing system even when it serves no purpose in
concluding a transaction. Times of India reported that this method of violating
personal data privacy may soon end as the consumer affairs ministry is expected to
1ssue an advisory to stop it.

It's a much-needed move. But it doesn't solve the core problem. Invasion of data
privacy is not limited to consumer transactions. It's far wider in scope. The only
way to check it 1s to legislate a comprehensive personal data protection law. Absent
that, any solution 1s at best a piecemeal effort. India has lagged in this aspect. As a
result, the explosion of digital activity has been accompanied by a surge in
extracting personal data without consent.

Government of India began the ongoing process of enacting a personal data
protection law in 2019. It's gone through many iterations. The bill needs to be
introduced in the next parliament session. India’s data protection framework
should strongly emphasise two principles, data minimization and purpose
limitation. The former is the first line of defence against abuse as data collection
needs to be limited to just what's relevant to conclude a transaction. The principle
of purpose limitation then seeks to ensure that data collected is used for only the
stated purpose. While the intent of the consumer affairs ministry is positive, it
alone can't ensure Indian’s data privacy.

Sub questions

Question Number : 1 Question Id : 92090622067 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the meaning of the term ‘ubiquitous’ from the options given below:

(1) Formal pledge or promise (2) Spend too little
(3)  Being the best (1) Found everywhere
Options :

92090687201. 1
92090687202. 2
92090687203. 3
92090687204. 4

Question Number : 2 Question Id : 92090622068 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Antonym of the term ‘Dubious”:

(1) Doubtful (2) Hesitating
(3) Rehable (4) Valuable
Options :

92090687205. 1
92090687206. 2
92090687207. 3
92090687208. 4

Question Number : 3 Question Id : 92090622069 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement | : Invasion of data privacy 18 not limited to consumer
transactions.
Statement I : The only way to check it 18 to legislate a comprehensive

personal data protection law.

In the light of the above statements, choose the correct answer from the options
given below :

(1) Both Statement [ and Statement 11 are eorrect
(2) Both Statement [ and Statement Il are incorrect
(3) Statement [ 1s true but Statement Il is incorrect

(1) Statement [ iz false but Statement 1 is correct

Options :

92090687209. 1
92090687210. 2
92090687211. 3
92090687212. 4

Question Number : 4 Question Id : 92090622070 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The Times of India reported that this method of violating personal data privacy

may soon end as the consumer affairs ministry is expected to issue an to
stop it.
(1) order (2) decision
(3) advisory (4) ordinance
Options :

92090687213. 1
92090687214. 2
92090687215. 3
92090687216. 4

Question Number : 5 Question Id : 92090622071 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
According to this paragraph, who can’t alone ensure India’s data privacy?

(1)  Ministry of Information and technology
(2) Education Ministry
(3 Consumer affairs ministry

(4) Labour ministry

Options :

92090687217. 1
92090687218. 2
92090687219. 3
92090687220. 4

Sub-Section Number : 2
Sub-Section Id : 920906708
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090622072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct active voice for the sentence given below.
Our moving into the new flat had been completed before evening.

(1) We had completed our moving into the new flat before evening.
(2) We have completed our moving into the new flat before evening.
(3) We completed our moving into the new flat before evening.

(1)  We completed our moving into the new flat before evening.

Options :

92090687221. 1
92090687222. 2
92090687223. 3
92090687224. 4

Question Number : 6 Question Id : 92090622072 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Identify the correct active voice for the sentence given below.
Our moving into the new flat had been completed before evening.

(1) We had completed our moving into the new flat before evening.
(2) We have completed our moving into the new flat before evening.
(3) We completed our moving into the new flat before evening.

(1)  We completed our moving into the new flat before evening.

Options :

92090687221. 1
92090687222. 2
92090687223. 3
92090687224. 4

Question Number : 7 Question Id : 92090622073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of PQRS set to complete the paragraph:

He asked her, “What are they?”

;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;

Still smiling, she answered, “Inside it.” (Place Walk)

P: He asked, “Do you sleep on them?”

Q: She said with a smile, “No, they're just for decoration.”
R: She replied, “T'wo small pillows.”

S: He pointed at the bed and asked, “Where do vou sleep?

(1) PQSR (2) QPRS
(3) RPQS (1) SRPQ

Options :

92090687225. 1
92090687226. 2
92090687227. 3
92090687228. 4

Question Number : 7 Question Id : 92090622073 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Choose the correct order of PQRS set to complete the paragraph:

He asked her, “What are they?”

Still smiling, she answered, “Inside it.” (Place Walk)

P: He asked, “Do you sleep on them?”

Q: She said with a smile, “No, they're just for decoration.”
R: She replied, “T'wo small pillows.”

S: He pointed at the bed and asked, “Where do vou sleep?

(1) PQSR (2) QPRS
(3) RPQS (1) SRPQ

Options :

92090687225. 1
92090687226. 2
92090687227. 3
92090687228. 4

Question Number : 8 Question Id : 92090622074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct indirect speech form of the following sentence:
He said to me, “What is your name?’

(1) He ordered me to tell my name. (2) He asked me what my name is.

{3) He asked me what my name was. (4) I was asked to tell my name by him.

Options :

92090687229. 1
92090687230. 2
92090687231. 3
92090687232. 4



Question Number : 8 Question Id : 92090622074 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct indirect speech form of the following sentence:
He said to me, “What is your name?”

(1) He ordered me to tell my name. (2) He asked me what my name 1s.

{(3) He asked me what my name was. (4) [ was asked to tell my name by him.

Options :

92090687229. 1
92090687230. 2
92090687231. 3
92090687232. 4

Question Number : 9 Question Id : 92090622075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which part of the following sentence has an error:

(1) None of the students in the elass  (2) were able to

(3) understand the problem (4) noerror

Options :

92090687233. 1
92090687234. 2
92090687235. 3
92090687236. 4

Question Number : 9 Question Id : 92090622075 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out which part of the following sentence has an error:

(1) None of the students in the elass  (2) were able to

(3) understand the problem (4) noerror

Options :
92090687233. 1



92090687234. 2
92090687235. 3
92090687236. 4

Question Number : 10 Question Id : 92090622076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Choose the correct sentence:

(1) He shudders at the memory and wakes up dazed.
(2) He shudders with the memory and wakes up dazed.
(3) He shudders over the memory and wakes up dazed.

(4) He shudders in the memory and wakes up dazed.

Options :

92090687237. 1
92090687238. 2
92090687239. 3
92090687240. 4

Question Number : 10 Question Id : 92090622076 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct sentence:

(1) He shudders at the memory and wakes up dazed.
(2) He shudders with the memory and wakes up dazed.
(3) He shudders over the memory and wakes up dazed.

(4) He shudders in the memory and wakes up dazed.

Options :

92090687237. 1
92090687238. 2
92090687239. 3
92090687240. 4

Question Number : 11 Question Id : 92090622077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Where did Lord Buddha breathe his last?

(1) Bodh Gaya (2) Sarnath
(3) Varanasi (1) Kushinagar
Options :

92090687241. 1
92090687242. 2
92090687243. 3
92090687244. 4

Question Number : 11 Question Id : 92090622077 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Where did Lord Buddha breathe his last?

(1) Bodh Gaya (2) Sarnath
(3) Varanasi (1) Kushinagar
Options :

92090687241. 1
92090687242. 2
92090687243. 3
92090687244. 4

Question Number : 12 Question Id : 92090622078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Who i1s supposed to be the custodian of the Indian constitution?

(1) President of India (2} Law Minister
(3) Chief Justice of India (4) We, the people of India
Options :

92090687245. 1
92090687246. 2
92090687247. 3
92090687248. 4

Question Number : 12 Question Id : 92090622078 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Who i1s supposed to be the custodian of the Indian constitution?

(1)  President of India (2) Law Minister
(3) Chief Justice of India (1) We, the people of India
Options :

92090687245. 1
92090687246. 2
92090687247. 3
92090687248. 4

Question Number : 13 Question Id : 92090622079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following are essential qualifications for appointment as a Governor?
(A) He must not be a member of either house of Parliament.
(B) He should be a domicile of the state to which he 15 being appointed.
(C) He should be a citizen of India.
(D) He must have complete the age of 35 years.

Choose the correct answer from the options given below:

(1) A, BandD only (2) A, CandD only
(3) B. C and D only (4) A and C only
Options :

92090687249. 1
92090687250. 2
92090687251. 3
92090687252. 4

Question Number : 13 Question Id : 92090622079 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following are essential qualifications for appointment as a Governor?
(A) He must not be a member of either house of Parliament.
(B) He should be a domicile of the state to which he 15 being appointed.
(C) He should be a citizen of India.
(D) He must have complete the age of 35 years.

Choose the correct answer from the options given below:

(1) A, B and D only (2) A, CandD only
(3) B. C and D only (4) A and C only
Options :

92090687249. 1
92090687250. 2
92090687251. 3
92090687252. 4

Question Number : 14 Question Id : 92090622080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For which of the following reasons is ozone layer important for living being.

(1) It serves as a source of oxygen by decomposing air.
(2) It maintains the nitrogen cycle on earth.
(3) It provides protections from excessive ultra violet rays of the sun.

(4) It maintains the temperature of the earth.

Options :

92090687253. 1
92090687254. 2
92090687255. 3
92090687256. 4

Question Number : 14 Question Id : 92090622080 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For which of the following reasons is ozone layer important for living being.

(1) It serves as a source of oxygen by decomposing air.
(2) It maintains the mitrogen ¢ycle on earth.
(3) It provides protections from excessive ultra violet rays of the sun.

(4) It maintains the temperature of the earth.

Options :

92090687253. 1
92090687254. 2
92090687255. 3
92090687256. 4

Question Number : 15 Question Id : 92090622081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Indian state India’s first pure green hydrogrn plant has been
commissioned?

(1) Gujarat (2) Karnataka
(3) Assam (4) Maharashtra
Options :

92090687257. 1
92090687258. 2
92090687259. 3
92090687260. 4

Question Number : 15 Question Id : 92090622081 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which Indian state India’s first pure green hydrogrn plant has been
commissioned?

(1) Gujarat (2) Karnataka
(3) Assam (4) Maharashtra
Options :

92090687257. 1
92090687258. 2
92090687259. 3



92090687260. 4

Question Number : 16 Question Id : 92090622082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A% B means A is the wife of B : A — B means A is the brother B: A + B means A
1s the father of B while A x B means A 15 the mother of B. Which of the following
shows that M is the maternal grandmother of T?

(1) MxN-8%T (2) MxS-N%T
(3) MxN%S+T (4) MxNxS%T
Options :

92090687261. 1
92090687262. 2
92090687263. 3
92090687264. 4

Question Number : 16 Question Id : 92090622082 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If A% B means A 15 the wife of B : A — B means A 1s the brother B: A + B means A
is the father of B while A x B means A is the mother of B. Which of the following
shows that M is the maternal grandmother of T?

(1) MxN-S%T (2) MxS-N%T
(3) MxN%S+T () MxNx5%T
Options :

92090687261. 1
92090687262. 2
92090687263. 3
92090687264. 4

Question Number : 17 Question Id : 92090622083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Find out the missing term from the following options:

7,425, 600, 825, 1100, 1425

(1) 300 (2) 225
(3) 250 (4) 245
Options :

92090687265. 1
92090687266. 2
92090687267 3
92090687268. 4

Question Number : 17 Question Id : 92090622083 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Find out the missing term from the following options:

7, 425, 600, 825, 1100, 1425

(1) 300 (2) 225
(3) 250 (4) 245
Options :

92090687265. 1
92090687266. 2
92090687267. 3
92090687268. 4

Question Number : 18 Question Id : 92090622084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A s 30 km to the East of B. B moves 40 km South then 20 km West. It then moves
50 km North and then 50 km East. Now A is:

(1) 20 km East of B (2) 10 km Northof B
(3) 10 km South of B (4) 20 km Northof B
Options :

92090687269. 1
92090687270. 2
92090687271. 3
92090687272. 4



Question Number : 18 Question Id : 92090622084 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A is 30 km to the East of B. B moves 40 km South then 20 km West. It then moves
50 km North and then 50 km East. Now A is:

(1) 20 km East of B (2) 10 km Northof B
(3) 10 km South of B (4) 20 km Northof B
Options :

92090687269. 1
92090687270. 2
92090687271. 3
92090687272. 4

Question Number : 19 Question Id : 92090622085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DAZE is written as 41265 in a certain code. How will BOY be written in the same
code?

(1) 21526 (2) 21425
(3) 21525 (4) 22525
Options :

92090687273. 1
92090687274. 2
92090687275. 3
92090687276. 4

Question Number : 19 Question Id : 92090622085 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

DAZE is written as 41265 in a certain code. How will BOY be written in the same
code?

(1) 21526 (2) 21425
(3) 21525 (4) 22525

Options :



92090687273 1
92090687274. 2
92090687275. 3
92090687276. 4

Question Number : 20 Question Id : 92090622086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ‘No researchers are scholoarship holoders’ and ‘some students are scholoarship
holders. It implies:

A: Some students are not researchers.

B: No students are researchers.

(1) A only (2) Bonly
(3) Both A and B (4) Neithen A and B
Options :

92090687277. 1
92090687278. 2
92090687279. 3
92090687280. 4

Question Number : 20 Question Id : 92090622086 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If ‘No researchers are scholoarship holoders’ and ‘some students are scholoarship
holders. It implies:

A: Some students are not researchers.

B: No students are researchers.

(1) A only (2) Bonly
(3 Both Aand B {(4) Neithen A and B
Options :

92090687277. 1
92090687278. 2
92090687279. 3
92090687280. 4



Question Number : 21 Question Id : 92090622087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If radius of a cyclinder is inereased by 10%, while height remains unchanged. What
will be the effect on its volume:

(1) 21% 1necrease (2) 21% decrease
(3) 11% increase (1) 11% decrease
Options :

92090687281. 1
92090687282. 2
92090687283. 3
92090687284. 4

Question Number : 21 Question Id : 92090622087 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If radius of a cyclinder is inereased by 10%, while height remains unchanged. What
will be the effect on its volume:

(1) 21% increase (2) 21% decrease
{3) 11% increase (1) 11% decrease
Options :

92090687281. 1
92090687282. 2
92090687283. 3
92090687284. 4

Question Number : 22 Question Id : 92090622088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train with certains speed passes a standing man in 6 seconds and 210 m long plat
form in 16 seconds. Then speed of the train is:

(1) 26 m/s (2) 62 mls
(3 12 m/fs (4) 21 m/s
Options :

92090687285. 1



92090687286. 2
92090687287. 3
92090687288. 4

Question Number : 22 Question Id : 92090622088 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A train with certains speed passes a standing man in 6 seconds and 210 m long plat
form in 16 seconds. Then speed of the train is:

(1) 26 m/s (2) 62 m/s
(3 12 m/s (4) 21 m/s
Options :

92090687285. 1
92090687286. 2
92090687287. 3
92090687288. 4

Question Number : 23 Question Id : 92090622089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A bag contains 1 red, 3 green. 2 blue and 4 yvellow balls. If a single ball 15 chosen at
random from the bag, then what is the probability that it is vellow or green?

3 7
1 = gy i
) 10 ) 10
o 9 o L
@) 10 ) 10

Options :

92090687289. 1
92090687290. 2
92090687291. 3
92090687292. 4

Question Number : 23 Question Id : 92090622089 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A bag contains 1 red, 3 green. 2 blue and 4 yellow balls. If a single ball 1s chosen at
random from the bag, then what is the probability that it is vellow or green?

3 7
ot 9 A

1) 10 @) 10
- 9 gy L
(3) = (4) T

Options :

92090687289. 1
92090687290. 2
92090687291. 3
92090687292. 4

Question Number : 24 Question Id : 92090622090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum is to be distributed among 4 persons in the proportion of 3:3:2:5. If second
person gets T500 more than the thired person them what is the share of the fourth
person

(1) 500 (2) 1,500
(3) 32,500 (4) 3.500
Options :

92090687293. 1
92090687294. 2
92090687295. 3
92090687296. 4

Question Number : 24 Question Id : 92090622090 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum 15 to be distributed among 4 persons in the proportion of 3:3:2:5. If second
person gets 500 more than the thired person them what is the share of the fourth
person

(1) 500 (2) 1,500
(3) 32,500 (4) 3,500



Options :

92090687293. 1
92090687294. 2
92090687295. 3
92090687296. 4

Question Number : 25 Question Id : 92090622091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 18h and 12h respectively. If both the pipes are
opened simultaneously. then how much time will be taken to fill the tank

h

&3

(1) h (2) 8

IJ‘I'—-

tn | —

(3)

=1
e
i
=1
| =

= | =

Options :

92090687297. 1
92090687298. 2
92090687299. 3
92090687300. 4

Question Number : 25 Question Id : 92090622091 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two pipes A and B can fill a tank in 18h and 12h respectively. If both the pipes are
opened simultaneously. then how much time will be taken to fill the tank

h

&3

(1) h (2) 8

IJ‘I'—-

tn | —

=1

(3)

e

i

=1
| =

= | =

Options :

92090687297. 1
92090687298. 2
92090687299. 3
92090687300. 4



Part B: Environmental Sciences

Section Id : 920906438
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906709
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090622092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The book “The Ages of Gaia — A biography of our living Earth (1988)" was written by

(1) E.S. Rowland
(2) Mario Moling
(3 James E. Lovelock

(4) William Golding

Options :

92090687301. 1
92090687302. 2
92090687303. 3
92090687304. 4

Question Number : 26 Question Id : 92090622092 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g Uor % TRl — U SRITET {1 $iTaR faifd s (1988) 9@ s & ddd S &7

(1) 308 U8 (2) |G \ifei
(3) uW 3 wgdi® @) faferom micgn



Options :

92090687301. 1
92090687302. 2
92090687303. 3
92090687304. 4

Question Number : 27 Question Id : 92090622093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is biggest anthropogenic source of atmospheric methane?

(1) Energy production/use
(2) Animal wastes
(3) Land fills

(1) Domestic sewage

Options :

92090687305. 1
92090687306. 2
92090687307. 3
92090687308. 4

Question Number : 27 Question Id : 92090622093 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fgifeed ¥ ¥ &1 agHsdd fBEE &1 9He-9 i 82

(1) Sl Idgd I9gnT (2) g MUay
(3) YR (4) R AT
Options :

92090687305. 1
92090687306. 2
92090687307. 3
92090687308. 4

Question Number : 28 Question Id : 92090622094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



What is the Si:0 ratio of amphiboles?

(1) 1:3 (2) 1:4
(3) 4:11 (4) 2:5
Options :

92090687309. 1
92090687310. 2
92090687311. 3
92090687312. 4

Question Number : 28 Question Id : 92090622094 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

uferdld &1 Si:0 S[Urd faeH gidl 87

(1 1:3 (2) 1:4
(3 4:M 4 2:5
Options :

92090687309. 1
92090687310. 2
92090687311. 3
92090687312. 4

Question Number : 29 Question Id : 92090622095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which among the following is the most recent epoch on the geological time scale?

(1) Pliocene {(2) Miocene
(3) Oligocene (4) Eocene
Options :

92090687313. 1
92090687314. 2
92090687315. 3
92090687316. 4

Question Number : 29 Question Id : 92090622095 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

fafafad ¥ 9 wyaaie gug nusy et siEra- g S 91 82

(1) SffergaA (2) AeEOIEH
(3) U @) eI
Options :

92090687313. 1
92090687314. 2
92090687315. 3
92090687316. 4

Question Number : 30 Question Id : 92090622096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A depth below which the shells dissolve in the deep sea water is called—

(A) Carbonate dissolution depth
(B) Carbonate precipitation depth
() Carbonate deposition depth

(D) Carbonate compensation depth

Options :

92090687317. 1
92090687318. 2
92090687319. 3
92090687320. 4

Question Number : 30 Question Id : 92090622096 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dg TS o/ A9 &ad T Wig ol § faeli- 81 §ITdl 8, 39 1 Sl Jldl 82

(1) P g " (2) e aHUT (@A) TS
(3) HEFE ey e 4) SEFE UAYRU TS

Options :



92090687317. 1
92090687318. 2
92090687319. 3
92090687320. 4

Question Number : 31 Question Id : 92090622097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements ;

Statement I :  The crustal thickness varies between ~7 km under oceans and ~70
km under high mountains.
Statement Il :  Felsic rocks are typical of the oceanie crust, whereas mafic rocks are

typical of the continental erust.

In the light of the above Statements, choose the correct answer from the options given

below :
(1) Both Statement | and Statement Il are true
(2) Both Statement [ and Statement Il are false

(3) Statement 1 1s true but statement 11 1s false

(4) Statement 1 1s false but statement 11 1s true

Options :

92090687321. 1
92090687322. 2
92090687323. 3
92090687324. 4

Question Number : 31 Question Id : 92090622097 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



RSy e §:

Dy -

WO 1 y@an # fisrar urdt s, g8 wg & 99 ~7 Al o 332 usrsi &
1 ~70 [ F dA g g

HUFIl:  Bichd Vd TSR W & e ol & od & Aftve I Hergidig wad

% YRS 0 ¢

JUIEd Y & el |, i 83U v f[decdl # J "el I 99 Hifen

(1)
(2)
(3)
(4)

Options :

HYF | AR ST Il €

HY | AR 1| ST A §

HY | 9 g, Al HUF 1l 3 &
HYT | 3T 8, Al U 11 TA 8§

92090687321. 1
92090687322. 2
92090687323. 3
92090687324. 4

Question
Question

Number : 32 Question Id : 92090622098 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Match List T with List IT :

List 1 List 11
(A) Ox-bow lake (I) Wind
(B) Playa (I} Glacier
(Cy Cirque (III) River
(D) Dunes (IV) Lake

Choose the correct answer from the options given below:

(1) (A)-(L), (B)-(II), (C)-(IV), (D)-(I)
(2) (A, (B)-(IV), (C)-(11), (D)-(I)
(3)  (A)-(11), (B)-(ILL), (C)-(IV), (D)-(T)
(4) (A1), (B)-(IV), (C)-(I1T), (D)-(T)

Options :

92090687325. 1



92090687326. 2
92090687327. 3
92090687328. 4

Question Number : 32 Question Id : 92090622098 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

It 1 & |1 gt 1| &1 e St

-1 =
(a)  HiagE sid Iy udd
(B) TR (I feug
) 9% iy a1
(D) I (X &1 2 (Iv) Sie
i 28 7 fashedl # 9 9l IR AT

(1) (A=), B)-(n), (C-(V), (D)-(1)
(2) (A=), (B)-(IV), (C)-(IN), (D)-()
(3) (A0, (B)-(I), (C)-(1V), (D)-(1)
(4 (A)-), (B)-(IV), (O-(11), (D)-(1)

Options :

92090687325. 1
92090687326. 2
92090687327. 3
92090687328. 4

Question Number : 33 Question Id : 92090622099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following weather to provide Mg?t ions to groundwater?
(A) Amphihole

(B) Biotite

(C) Plagioclase

(D) Dolomite

(E) Calcite

Choose the correct answer from the options given helow :

(1) (A), (B), (C), (D) only (2) (A), (B), (C) only
(3) (A, (B), (D), (E) only (4)  (A). (B). (D) only
Options :

92090687329. 1
92090687330. 2
92090687331. 3
92090687332. 4

Question Number : 33 Question Id : 92090622099 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafefad 7 ¥ &1 s/ve & d1g WiTeid &1 Mg?* 318+ UeTH &l 87
A, UAplEl

B. dMdicige

C. WwWiicaed

D. S/amEe

E. PR

i fou 0 fawmedl o 9§ 9l I &1 AT

(1) &dd A B CD
(2) dd A B, C

(3) &dd A B D,E
(4) &dd A B, D



Options :

92090687329. 1
92090687330. 2
92090687331. 3
92090687332. 4

Question Number : 34 Question Id : 92090622100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The average composition of atmosphere near the surface of earth is
given on dry basis and in terms of mixing ratio (weight percent
basis).

Reasons (R): Water content in atmosphere near the surface of the earth is variable
with respect to location, time and the concentration of gases in
volumetric units (moles/litre) varies with temperature and pressure
conditions,

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

(4) (A) 15 false but (R) is true

Options :

92090687333. 1
92090687334. 2
92090687335. 3
92090687336. 4

Question Number : 34 Question Id : 92090622100 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I 3B A 3R T6 R WS &1 Sy R T 8

HUBYT A - Tl & dd & WHU IGHST DI SEa XTI, Ihal SR 0T SEUT (WR
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PHRUIR : agHed H gl & gy & §HiU Sd &1 0 ®E, $1d & YR giafdd gl
2 3R smuafe geal (e /die’) 7 19 B AFE0 AU SR 29 ST 3
& AR FE-FE g 8|

Iuda YT & ot #, A9 el T e # 9 uEl 3R g

(1) A 3RRGH U8l & 3R R, A ] el AT 8
(2) ASRRTEHA WS E [ R A D el O TRl B

3) AUEE fPgrI@AE
(4) ATEAE fegruEde

Options :

92090687333. 1
92090687334. 2
92090687335. 3
92090687336. 4

Question Number : 35 Question Id : 92090622101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

El Nino and La Nina phenomena are observed in—

(1) Pacific Ocean (2} Indian Ocean
{(3) Mediterranian Sea (4) Atlantic Ocean
Options :

92090687337. 1
92090687338. 2
92090687339. 3
92090687340. 4

Question Number : 35 Question Id : 92090622101 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e AT SR @t A uRgennt Fafefaa | @ e iféd @t e 82

(1) U HETR (2) f= WemrR
(3) YHOENIHY 9FR (4) 3fcdiled AERETR
Options :

92090687337. 1
92090687338. 2
92090687339. 3
92090687340. 4

Question Number : 36 Question Id : 92090622102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Scaling may lead to corrosion and damage of boilers or water cooling systems. Which
of the following compound is insoluble and forms scale?

(1) Barium Sulfate (2) Calcium Chloride
() Sodium Chloride (4) Sodium Nitrate
Options :

92090687341. 1
92090687342. 2
92090687343. 3
92090687344. 4

Question Number : 36 Question Id : 92090622102 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

b & UNUMH WY HYST O Fd ULiiad yonel § Fsedu ar efd gl wed g, Fe A @
H 19 91 Qi sifder § SR 3Ud Yo &1 Ao gar g2

(1) 9Rgd Helbe 2) FicRrn FARES
(3) GIfgunA FRES (4) WfsgHEee
Options :

92090687341. 1
92090687342. 2
92090687343. 3
92090687344. 4



Question Number : 37 Question Id : 92090622103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One i1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Nuclear fission occurs rapidly in atomic bomb explosion and occur
relatively slowly in a nuclear reactor.

Reasons (R) : Nuclear reaction of splitting a massive nucleus into less stable and
less massive nuclel with release of energy 1s nuclear fission.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2} Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) 1s false

(4) (A) 1s false but (R) 1s true

Options :

92090687345. 1
92090687346. 2
92090687347. 3
92090687348. 4

Question Number : 37 Question Id : 92090622103 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



9 3By A 3R 9% R THE 3 By RO T §:
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(4) AT g, g R TE B

Options :

92090687345. 1
92090687346. 2
92090687347. 3
92090687348. 4

Question Number : 38 Question Id : 92090622104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements ;: One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): Type B metal ions form more stable complexes compared to Type A
metal ions.

Reasons (R) - High electro-negativity (in relative terms) of metal and low
electro-negativity of the legand donor atom would be consistent with
stability of a complex with Type B metal 1on.

In the light of the above Statements, choose the most appropriate answer from the
options given below:

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

{(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A) 1s correet but (R) 1s not correct

(4) (A) is not correct but (R) is correct



Options :

92090687349. 1
92090687350. 2
92090687351. 3
92090687352. 4

Question Number : 38 Question Id : 92090622104 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 Sy A 3R T R WS ol By RO T &

AUBUTA : URSY A tifcdd ATl 1 g1 § 8 Uy wifcdd 3o ifte wirg afiy &1
[EELERGE

HRUIR : YIgell 1 I dggd HUNESl (Wiféd ¥4 H) 3R Yaud aral YA &
A f4ggd RS UEd B UIfdd 310 & Wiy & RIfdd & ey
gl

Iudad syl & e #, 1 33 1 e § 1 9el 3w g

(1) A 3R REH Tl € dUTR, A P Ul S €

(2) A SRR IHE 6§, fFg R, A B 9l T el &
3) AUEE fBFgrIEd?

(4) ATde, fPgRUE R

Options :

92090687349. 1
92090687350. 2
92090687351. 3
92090687352. 4

Question Number : 39 Question Id : 92090622105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following species is NOT a proton acceptor in natural waters?
(1) OH (2) HCO,
(3) cor (4) Hi0°

Options :



92090687353. 1
92090687354. 2
92090687355. 3
92090687356. 4

Question Number : 39 Question Id : 92090622105 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafed 7 9 @19 @ e wefae o # Wl mie 78 gkl 82

(1) OH (2) HCO:
(3) cor (4) H.O’

Options :

92090687353.
92090687354.
92090687355.
92090687356.

A W N —

Question Number : 40 Question Id : 92090622106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What will be the concentration of nitrogen (N) in a 31 ppm solution of nitrate?

(1) 31 ppm {2) T ppm
(3) 14 ppm {4) 28 ppm
Options :

92090687357. 1
92090687358. 2
92090687359. 3
92090687360. 4

Question Number : 40 Question Id : 92090622106 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



31 ppm Agee & fdage # Argele (N) &1 Arsal fba- grfl?

(1) 31 ppm (2) 7 ppm
{3) 14 ppm (4) 2B ppm
Options :

92090687357. 1
92090687358. 2
92090687359. 3
92090687360. 4

Question Number : 41 Question Id : 92090622107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Most important buffering species in the pH range of 4 to 8 in natural water is

(1) COT (2) Hz2003
(3) H:0+ (4) HCO,
Options :

92090687361. 1
92090687362. 2
92090687363. 3
92090687364. 4

Question Number : 41 Question Id : 92090622107 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Wi ofc H 4 9 8 B pH ¥o H Halis Aeaqul Hiee (4T Ufaieq) oifd &1 4 &2

(1) COo:® (2) H2€0;
(3) H;0* (4) HCO;
Options :

92090687361. 1
92090687362 2
92090687363. 3
92090687364. 4



Question Number : 42 Question Id : 92090622108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are soil forming factors?
(A) Time

(B) Topography

({C)  Climate

(I  Organisms

(E). Parent material

Choose the correct answer from the options given below :

(1) (A), (C) and (D) only (2) (A), (B), (D) and (E) only
(3) (B). (C), (D) and (E) only (4) (A), (B). (C), (D) and (E) only
Options :

92090687365. 1
92090687366. 2
92090687367 3
92090687368. 4

Question Number : 42 Question Id : 92090622108 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HeRT® BRS Fufafaa a4 82

A §HY

B. IRl

C. Uadg

D. Wiid

E OHe gl

12 3w 70 faseul 7 9 g IW A

(1) ®adA C3RD (2) PdUA B DSRE
(3) ddaB,C D3RE (4) HIAAA, B, C, DRE

Options :



92090687365. 1
92090687366. 2
92090687367 3
92090687368. 4

Question Number : 43 Question Id : 92090622109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A planet having 300 K average surface temperature will emit maximum radiation in

(1)  Ultra violet region
{2) Visible region
(4

(

4) Microwave region

L—

Infrared region

Options :

92090687369. 1
92090687370. 2
92090687371. 3
92090687372. 4

Question Number : 43 Question Id : 92090622109 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

S 300 K UE a9 ard 98 9, i § 9 fhae siftead fafdor Ixafold gim?

(1) TETE 8F (2) TWOHME &F
(3) SIPRE (3fElE) & (4) G &
Options :

92090687369. 1
92090687370. 2
92090687371. 3
92090687372. 4

Question Number : 44 Question Id : 92090622110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



When the scattering particles in the atmosphere are small compared with the
wavelength (A) of light being scattered, the scattered intensity will be proportional to

() A2 (2) Ad
(3) A (4) X
Options :

92090687373. 1
92090687374. 2
92090687375. 3
92090687376. 4

Question Number : 44 Question Id : 92090622110 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wa argFsa § yaiifa sur yeiftla & @ uer &t awresl () & go # ag e g, @
yaifotd diaar 9 @ fod & garuias g

(1) A2 (2 Xx*
) e 4 Ar*
Options :

92090687373. 1
92090687374. 2
92090687375. 3
92090687376. 4

Question Number : 45 Question Id : 92090622111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The prophase of first meiotic division is divided into phases list below. Arrange the
phases in the order, as they occur one after the other.

(A)  Diplotene
(B) Zvgotene
(C) Siakineses
(D} Leototene
(E). Pachytene

Choose the correct answer from the options given below :

(1) (A), (O), (B), (E), (D) (2) (D), (B), (E), (A), (C)
Options :

92090687377. 1
92090687378. 2
92090687379. 3
92090687380. 4

Question Number : 45 Question Id : 92090622111 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wyH SR faureF @1 urawyl FafifEd saenst # faved gl 81 38 U & 91 U 9t
g & HH H aafeud Sifee:

A fgwrd=

B. WIZICH

c. fgemeEad

D. @PIEH

E. UddE

919 fau 78 faeal § 9 w6l IR I

() ACBED (2) D,BEAC
3) EAD,BC (4) EBACD

Options :



92090687377. 1
92090687378. 2
92090687379. 3
92090687380. 4

Question Number : 46 Question Id : 92090622112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
(Given below are two statements :

Statement [ ;. While studying the pattern of inheritance in pea plants, Mendel
proposed the prineiples of inheritance, now known as ‘Mendel's Law
of Inheritance’.

Statement [1: Mendel's law of independent assortment does not hold true for the
Tinked genes’.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but statement I 1s false

(4) Statement [ is false but statement I is true

Options :

92090687381. 1
92090687382. 2
92090687383. 3
92090687384. 4

Question Number : 46 Question Id : 92090622112 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



FR APy AT E:

HYT| . HeX & URHl # 4R H & UfaEy & gy & gAY, Hed - 4R Rigid
yfduried fava, S o/ Hed & S die Fan & ¥4 A S a1 g

HY I TS T WaA Usggd Fram mifta (@e) o & e aa T8t 8|
Iue FHYI & oftae A, 19 8 7 fawedi § 9 uEl IR g

(1) YA 3R FYT 1 S T B
(2)  BYF| SR BYT I S T &
(3) ®YF 198l g, fobe HYA 11 T ©
4) ®YFI7ad g, g du= 11 9El §

Options :

92090687381. 1
92090687382. 2
92090687383. 3
92090687384. 4

Question Number : 47 Question Id : 92090622113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In the double-helix structure of DNA two hydrogen bonds are formed between which
two bases of the opposite strands?

(1) Adenine with Guanine
(2)  Adenine with Thymine
(3)  Guanine with Cytosine

(4)  Guanine with Thymine

Options :

92090687385. 1
92090687386. 2
92090687387. 3
92090687388. 4

Question Number : 47 Question Id : 92090622113 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fufifad & ¥ o7 &1 faudla dgsit & omuR & v 1 A v @l fgdefedt S a4 @
elgglar | &1 o grar g2

(1) ufsfE SR 1enfa (2) UEFA 3R uEhiE
(3)  T&HA SR WEeRE @) T3 R YA
Options :

92090687385. 1
92090687386. 2
92090687387. 3
92090687388. 4

Question Number : 48 Question Id : 92090622114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are genetic elements?
{(A) Plasmid

{(B) Chromosome

(C) DNA polymerase

(D) Transposable element

(E). Genome

Choose the correct answer from the options given below :

(1) (B).(C), (D). (E) only (2) (A), (B), (D), (E) only
(3 (A). (B), (C), (E) only (4) (A), (C), (D), (E) only
Options :

92090687389. 1
92090687390. 2
92090687391. 3
92090687392. 4

Question Number : 48 Question Id : 92090622114 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrofafad § 4 srafie aa & 8§ 87

A @RS

B. TR

C. Siuau diftmys

D. uRgdeiiddd

E. ©FM

i feu 0 faeedl 7 8 wel IR g

(1) @ddB,C D,E (2) ®dd A B,D,E
(3) PddA B, CE (4) FAAA CD,E
Options :

92090687389. 1
92090687390. 2
92090687391. 3
92090687392. 4

Question Number : 49 Question Id : 92090622115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To enhance the existing populations of biodegrading micro-organisms, specific
microbes are added to soil. This process is called -

(1) Bioaccumulation (2) Bioaugmentation
(3) Bioconservation (4) Bioengineering
Options :

92090687393. 1
92090687394. 2
92090687395. 3
92090687396. 4

Question Number : 49 Question Id : 92090622115 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o A GeH Sitd $i e S-e dg ofe Ja # fafy gam Sital @1 aiferd fear
W 8, T UebH HEaNI &:

(1) SgH=ga (2) GigaHd
(3)  SIaERem 4) Sasifife!
Options :

92090687393. 1
92090687394. 2
92090687395. 3
92090687396. 4

Question Number : 50 Question Id : 92090622116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

At the surface of the sea (air-water interface), is the microbial habitat referred to as
the

(1) Neuston {21 Pleuston
(3 Benthos (4) Episton
Options :

92090687397. 1
92090687398. 2
92090687399. 3
92090687400. 4

Question Number : 50 Question Id : 92090622116 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g B Udg (I7g-STd-3{d:Hde) W, Y& Siid &7 3198 & 6 0 &1 S 82

(1) A (2) wgEA
(3) &Yy @) Tt
Options :

92090687397. 1
92090687398. 2
92090687399. 3
92090687400. 4



Question Number : 51 Question Id : 92090622117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Method of phylogenetic analysis of bacteria based on DNA fragments encoding their
165 rENA is called as

(1)  Multi Locus Sequence Typing (2) Fatty Acid Analysis
(3)  Ribotyping (4) rep-PCR
Options :

92090687401. 1
92090687402. 2
92090687403. 3
92090687404. 4

Question Number : 51 Question Id : 92090622117 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

{8 U9 U fadsd & SmuR W Siaefl & YRR fbarets fazawor &1 fafy, fowd 165 IR UTA U
&1 g Tg BId1 ¢, T8 1 Heald! 82

(1) 98 &= g §¢1 (2) 91 3 f[ageso
(3) e @) fosiefes - dRitemR
Options :

92090687401. 1
92090687402. 2
92090687403. 3
92090687404. 4

Question Number : 52 Question Id : 92090622118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A): Pore spaces In surface soils 15 an important factor in deciding
microbial density and distribution.

Reasgons (R) : Small pore necks protect resident bacteria from protozoal predation.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(3 (A) 18 true but (R) is false
(4) (A) 15 false but (R) is true
Options :
92090687405. 1
92090687406. 2

92090687407 3
92090687408. 4

Question Number : 52 Question Id : 92090622118 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 3ifirpy A 3R OF R WS &l HuH AR

HFHYT A : S Hal ¥ WIPR, Y& oiidl T R v & Uk &1 dgaye] $RS g
HRUR: oY Jegad dial Fard Siar] &1 dieisn & qR-Haor § g #3d g
Iude Byl & Sreie H, A9 38 1 faeedi § § wel IW 9

(1) ASRREH UEI € dUIR A D] USI ARBA &

20 AR REH GE 8 PR, A BT UEl Ure 8 §

3) AWEIE FgRIEAR

(4) ATEAE, fPIREER

Options :

92090687405. 1

92090687406. 2

92090687407. 3
92090687408. 4



Question Number : 53 Question Id : 92090622119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following features distinguish Bacteria from Eukarya?
(A) Membrane lipids
(B) Poly (A) tailing of mRNA
(C)  Cell structure
(D) Plasmids

(E). Hibosomes

Choose the correct answer from the options given below :

(1)  (A), (B). (D). (E) only (2) (A), (C), (D), (E) only
(3) (B, (C), (D), (E) only (4) (A), (B), (C), (E) only
Options :

92090687409. 1
92090687410. 2
92090687411. 3
92090687412. 4

Question Number : 53 Question Id : 92090622119 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFrafefad # 4 ® 3 fagant gatvar 4 dedifvar @1 faug s g2

A el fafos

B. mRNA &1 &g (A) U3

C. IR HI=A

D. wWifeHgd

E.  USEH

19 fau U faseal 7 9 wel I gAY

(1) &ddA B, D E (2) PddA,CDE
(3) &ddB,CDE (4) PdUA, B CE
Options :

92090687409. 1
92090687410. 2
92090687411. 3
92090687412. 4

Question Number : 54 Question Id : 92090622120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II:

(A)
(B)
(C)
(D)

List I List II

(Microbe) (Natural habitat)
Streptomyces (I} Aquatic habitat
Influenza virus (IT) Terrestrial Environment
Spirulina (III) Sewage treatment
Giardia (IV) Airborne pathogen

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

(A)-(IV), (B)-(11L), (C)-(11), (D)-(I)
(A)-(IV), (B)-(D), (C)-(1I), (D)-(I11T)
(A)-(1LD), (B)-(IV), (C)-L), (D)-(I)
(A)-(ID), (B)-(IV), (C)-(I), (D)-(I1D)



Options :
92090687413. 1

92090687414. 2

92090687415. 3

92090687416. 4

Question Number : 54 Question Id : 92090622120 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks

: 4 Wrong Marks : 1

Tt | B gl 1S 9y Rl S

- i
EIEL) CIEAREZEIGIES)
(A) WPHREY () ooy sifiam
(B) SURIUSI ()  Hife yaiao
(€) e (1) Feod Y
(D) Tosmsha (Iv) SrgEfd IRTaE®
49 3 T el 4 9 w8l I 9T
(1) (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
(2) (A)-(1V), (B)-(1), (C)-=(I1), (D)-(111)
(3) (A)-(11), (B)-(IV), (C)-(11), (D)-(1)
(4) (A)-(11), (B)-(IV), (C)-(1), (D)-(111)
Options :

92090687413. 1
92090687414. 2
92090687415. 3
92090687416. 4

Question Number : 55 Question Id : 92090622121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks

: 4 Wrong Marks : 1



In Ferns, the vascular stands of a dictyostele are called as

(1) Telomes
(2) Meristeles
(3)  Pith

(1) Trabeculae

Options :

92090687417. 1
92090687418. 2
92090687419. 3
92090687420. 4

Question Number : 55 Question Id : 92090622121 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wH # ffaeaified & ddg= 4y 1 Hedrd 87

(1) <amg (2) AT
3) oy (4) CoERgel
Options :

92090687417. 1
92090687418. 2
92090687419. 3
92090687420. 4

Question Number : 56 Question Id : 92090622122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Nematodontous peristomes are found in

(1) Funaria (2} Bryum
(3 Marchantia (1) Polytrichism
Options :

92090687421. 1
92090687422. 2
92090687423 3
92090687424. 4



Question Number : 56 Question Id : 92090622122 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FiesS=y Ui &gl Ul ord 87

(1) AR 2) wHEH
(3) wdfedr (4) Uicifcad
Options :

92090687421. 1
92090687422. 2
92090687423. 3
92090687424. 4

Question Number : 57 Question Id : 92090622123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to telome theory, which one of the following processes accounted for the
shifting of sporangia to ventral surface of leaf in ferns?

(1) Overtopping (2) Planation
(3) Syngenesis (4) Inecurvation
Options :

92090687425. 1
92090687426. 2
92090687427. 3
92090687428. 4

Question Number : 57 Question Id : 92090622123 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

dlam Rigia & o e Faffed 9 9 o1 W ufsar goriil § W< &1 od § Iead &1
IR WY & fore ITverd! gl 82

(1) IS H (sfiazerd) (2) WHTAE
(3) TAeRRM @re=e) (4) TADBANA (SMAIHU)



Options :

92090687425. 1
92090687426. 2
92090687427. 3
92090687428. 4

Question Number : 58 Question Id : 92090622124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the taxonomic categories of wheat in descending order :
(A) Monocotyledonae
(B) Angiospermae
(C) Poaceae
(D)  Poales

(E) Triticum

Choose the correct answer from the options given helow :

(1) (E). (D), (O), (B), (A) (2) (A), (B), (C), (D), (E)
(3 (B).(A). D), (C), (E) (4) (A), (C), (D), (B), (E)
Options :

92090687429. 1
92090687430. 2
92090687431. 3
92090687432. 4

Question Number : 58 Question Id : 92090622124 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g 1 afffebty Aford] &1 sravigl s H syafyd S
A, AFETIRESH

B. UforireuHf

C. unTH

D. YUH

. fefewn

19 fau U faseedl § 9§ el IR g

(1) EDGCBA 2 ABCDE
(3) B,ADCE 4 ACD,BE
Options :

92090687429. 1
92090687430. 2
92090687431. 3
92090687432. 4

Question
Question

Number : 59 Question Id : 92090622125 Question Type : MCQ Option Shuffling : No Is
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

(riven

below are two statements: One is labelled as Assertion (A) and the other is

labelled as Reason (R) :

Assertion (A) : The gymnosperms are plants in which the ovules are not enclosed by

any ovary wall and remain exposed, both before and after
fertilisation.

Reasons (R):  Common examples gymnosperms are Psilotum and Lycopodium.

In the
below:

(1)
(2)
(3)
(4)

Options :

light of the above Statements, choose the correct answer from the options given

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) 15 NOT the correct explanation of (A)
(A) is true but (R) is false

(A) is false but (R) is true



92090687433. 1
92090687434. 2
92090687435. 3
92090687436. 4

Question Number : 59 Question Id : 92090622125 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A HfHHEYA A 3R T6 R 9SG &l dyF A0 E:

SMHBYT A - SFAIG el UTey U ey 81d 8 for srusTy] ot srvarer fir 9 dgw el
gId SR FieA gd SiR uyTa g feufertl & Iwriea g 8|

PRUR : 3T |t & Urey HHF JaTeR0l H Rieien ok agemifeay mitd g
U YAl & el H, i el T fawadt § 9 w8t 3w 9

(1) ASIRREH Usl 8 dUTR A B Tl U &

(2) AJRREME GG E FIR AT USRI TE
(3) AUEE fFgRrIEAR

(4) ATCAE, FPgREER

Options :

92090687433. 1
92090687434. 2
92090687435. 3
92090687436. 4

Question Number : 60 Question Id : 92090622126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I ;  LAA is transported from cell to cell and the transport 1s unidirectional
(polar).

Statement Il : Auxins induce the adventitious roots on cuttings and inhibit the leaf
and fruit abscission.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement [ is correct but statement Il is incorrect

(4) Statement [ is incorrect but statement Il is correct

Options :

92090687437. 1
92090687438. 2
92090687439. 3
92090687440. 4

Question Number : 60 Question Id : 92090622126 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090687437. 1



92090687438. 2
92090687439. 3
92090687440. 4

Question Number : 61 Question Id : 92090622127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following statements are correct?

(A) In CAM plants the fixation of CO: to phosphoenolypyruvate to form
oxaloacetate occurs at night.

(B) In photosystem I the special chlorophyll, the molecules of reaction centre are
known as Peso.

(C)  During photosynthesis manganese 1s an essential co-factor for oxygen evolving
mechanism.

(D) The leaves of C, plants are characterized by Kranz anatomy.

(E). (s plants are more efficient utilizers of CO; than C; plants.

Choose the correct answer from the options given below:

(1) (B) and (E) only (2) (A), (B)and (C) only
(3) (A), (C), and (D) only (4) (D) and (E) only
Options :

92090687441. 1
92090687442. 2
92090687443. 3
92090687444. 4

Question Number : 61 Question Id : 92090622127 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090687441. 1
92090687442. 2
92090687443. 3
92090687444. 4

Question Number : 62 Question Id : 92090622128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List 11 ;

List [ List 11
{Bacteria) {(Shape)
(A) Coccus (I Rod-shaped
(B} Bacillus (IT) Comma-shaped
() Vibrium (I1I) Spherical
(D) Spirillum (IV) Spiral

Choose the correct answer from the options given below:

(1) (A)-(D), (B)-(II), (C)-(I11), (D)-(IV)
(2)  (AAID, (B)-(ID, (C)-(D). (D)-(AV)
(3)  (A)-(IV), (B)-(I10). (C)-(1T), (D)-(T)
(4) (A)-(IID), (B)-(I), (C)-(II), (D)-(IV)

Options :

92090687445. 1
92090687446. 2
92090687447. 3
92090687448. 4

Question Number : 62 Question Id : 92090622128 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1 (A=), (B)-(l), (C)-(hn), (D)-(IV)
(2} (A)-(), (B)-(l), (C)-(1), (D)-(IV)
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() (A, B)-(1), (C)-(), (D)-(Iv)



Options :

92090687445. 1
92090687446. 2
92090687447. 3
92090687448. 4

Question Number : 63 Question Id : 92090622129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The high impact species whose removal from community affects persistence of other
species, and their impact is disproportionate to abundance are known as

(1) Umbrella species (2) Flagship species
{3) Exotic species (4) Keystone species
Options :

92090687449. 1
92090687450. 2
92090687451. 3
92090687452. 4

Question Number : 63 Question Id : 92090622129 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687449. 1
92090687450. 2
92090687451. 3
92090687452. 4

Question Number : 64 Question Id : 92090622130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which of the following IUCN category is assigned when a species faces an extremely
high or very high risk of extinction in the wild in immediate or near future?

(1) CR — Critically endangered species
(2)  NT — Near threatened species
(3 VU — Vulnerable species

(4) Extinct species

Options :

92090687453. 1
92090687454. 2
92090687455. 3
92090687456. 4

Question Number : 64 Question Id : 92090622130 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687453. 1
92090687454. 2
92090687455. 3
92090687456. 4

Question Number : 65 Question Id : 92090622131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the key fauna in the Gulf of Mannar biosphere reserve for
in-situ conversation of biodiversity in India ?

(1) Indian Wild Ass (2} Dugong or sea cow
(3) Snow leopard (4) Nilgiri — Tahr



Options :

92090687457. 1
92090687458. 2
92090687459. 3
92090687460. 4

Question Number : 65 Question Id : 92090622131 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687457. 1
92090687458. 2
92090687459. 3
92090687460. 4

Question Number : 66 Question Id : 92090622132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Arrange the following Taxonomic groups in the decreasing order of the number of
species described on the earth :

(A) Vascular plants

(B) Insects

(C) Fungi
(D) Algae
(E) Fish

Choose the correct answer from the options given below:

(1) (A), (B), (C), (D), (E)
(2)  (B). (A), (C), (D), (E)
(3)  (E), (D), (C), (B), (A)
(4)  (O), (D), (E), (A), (B)

Options :

92090687461. 1

92090687462. 2

92090687463. 3
92090687464. 4

Question Number : 66 Question Id : 92090622132 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687461. 1
92090687462. 2
92090687463. 3
92090687464. 4

Question Number : 67 Question Id : 92090622133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Given below are two statements:

Statement [ :  Pteridophytes are the first terrestrial plants to possess vascular
tissues.

Statement [1: The common examples of ferns are Funaria and Sphagnum.

In the light of the above Statements, choose the correct answer from the options given
bhelow:

(1) Both Statement | and Statement [l are true
(2) Both Statement [ and Statement Il are false
(3) Statement [ is true but statement 11 1s false

(4) Statement I is false but statement I is true

Options :

92090687465. 1
92090687466. 2
92090687467. 3
92090687468. 4

Question Number : 67 Question Id : 92090622133 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687465. 1
92090687466. 2
92090687467. 3
92090687468. 4

Question Number : 68 Question Id : 92090622134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(Giiven below are two statements: One is labelled as Assertion (A) and the other is
labelled as Reason (R):

Assertion (A):  Some species of Katydids (or Busherickets) resembles with complete
leaf or appears to be a part of leaf.

Reasons (R) : Katydids show camouflage as a behavioural strategy to avoid
predation.

In the light of the above Statements, choose the correct answer from the options given
below:

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false
(4) (A) 1s false but (R) is true
Options :
92090687469. 1

92090687470. 2
92090687471. 3



92090687472. 4

Question Number : 68 Question Id : 92090622134 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687469. 1
92090687470. 2
92090687471. 3
92090687472. 4

Question Number : 69 Question Id : 92090622135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T :

List I List I1
(Biographic Zone) {Biotie Provinces)
(A) Himalayan (It Kutch
(B) Desert (II) North West Himalaya
(C) Semi Arid (I1I) Punjab
(D) Western Ghats (IVy Malabar Coast

Choose the correct answer from the options given below:

(1) (A, (B)-(ID), (C)-(ILD), (D)-(IV)
(2)  (Q)-(D), (B)-(D), (C)-(ILD), (M-(IV)
(3)  (A)-AV), (B)-(ID), (C)-(L), (D)-(1)
(4)  (A4)-(D), (B)-IV), (C)-(D), (D)~(III)

Options :

92090687473. 1
92090687474. 2
92090687475. 3
92090687476. 4

Question Number : 69 Question Id : 92090622135 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= | G 1| F Y AR B

- ! -
@ irferes & (Sifeep &)
(& Tewmel n T
(B) WERcl () IR-ufEw fenreg
© Siges () derE
(D) ufdHt are (Iv) HEER d¢
1 38 7 fasedi § 9 Ul IR g
(1) (A)-(1), (B)-(I), (O)-(IN), (D)-(1V)
(2) (A)-(11), (B)-(1), (C)-(I), (D)-(1IV)
(3) (A)-(IV), (B)-(111), (C)-(11), (D)-(1)
(4) (A)-(11), (B)-(1V), (C)-(1), (D)-{lI1)

Options :

92090687473. 1
92090687474. 2
92090687475. 3
92090687476. 4

Question Number : 70 Question Id : 92090622136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following cell lines does not grow in suspension culture?

(1) THP-1 (2) K562
(3) Ua3s7 (4) Ab549
Options :

92090687477. 1
92090687478. 2
92090687479. 3
92090687480. 4

Question Number : 70 Question Id : 92090622136 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) THP-1 (2) K562
(3) U937 (4) A549
Options :

92090687477. 1
92090687478. 2
92090687479. 3
92090687480. 4

Question Number : 71 Question Id : 92090622137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Respiratory quotient 1s defined as

(1) MNumber of respiration per minute
(2)  Amount of energy produced as ATP during given period of time
(3) Ratio of amount of COs produced to the amount of () taken in
(4) Ratio of amount of ATP produced to the amount of Oz used
Options :
92090687481. 1
92090687482. 2

92090687483. 3
92090687484. 4

Question Number : 71 Question Id : 92090622137 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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92090687481. 1



92090687482. 2
92090687483. 3
92090687484. 4

Question Number : 72 Question Id : 92090622138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Some of the substances move out of the peritubular capillaries and are moved into the
nephron by which process?

(1) Seecretion

(2) Absorption
(3) Reabsorption
(1) Filtration

Options :

92090687485. 1
92090687486. 2
92090687487. 3
92090687488. 4

Question Number : 72 Question Id : 92090622138 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frofaf@a 3 3 R uiear gR1 39 e TRARETER SR 3 aTeR oa & 3R i 3 9a
WTd €7

(1)  HdUl (") (2) SIEHT
(3)  YAsagimu 4) Fedea
Options :

92090687485. 1
92090687486. 2
92090687487 3
92090687488. 4

Question Number : 73 Question Id : 92090622139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Matech Last I with Last IT :

List I List 11
{Anatomy term) {(Definition)
(A) Bone (I) A fibrous protein
{B) Collogen (II) Mature bone cell
(C) Osteocyte (I11I) Blood cell production
(D Marrow (IV) Mineralized connective tissue

(Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(II), (C)(I), (D)-(IV)

(2)  (A)-ID), (B)-AD), (C)-(IV), (D)-(IIT)

(3)  (A)-(IV), (B)-(ID). (C)-(T). (D)-(I1L)
(

(4) A)-(IV), (B)-(I), (C)-1), (D)-(I1I)

Options :

92090687489. 1
92090687490. 2
92090687491. 3
92090687492. 4

Question Number : 73 Question Id : 92090622139 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A=), B)-(), (O-(1), (D)-(IV)
(2) (A1), (B)-(1), (C)-(1V), (D)-(lH1)
(3)  (A)-0V), (B)-(11), (C)-(1), (D)-(HI)
(4) (A=), (BY-(1), (C)-(l), (D)-(li1)

Options :

92090687489. 1
92090687490. 2
92090687491. 3
92090687492. 4

Question Number : 74 Question Id : 92090622140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(iven below are two statements ;

Statement [ ;' Apoptosis is a pro-inflammatory mode of cell death.
Statement I1: During apoptosis inflammatory substances are released which alerts

other cells in the vicinity of dying cell.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both Statement | and Statement [T are true
(2) Both Statement I and Statement I are false
(3 Statement 1 1s true but statement 11 1s false

{4) Statement 1 is false but statement 11 is true

Options :



92090687493. 1
92090687494. 2
92090687495. 3
92090687496. 4

Question Number : 74 Question Id : 92090622140 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090687493. 1
92090687494 2

92090687495. 3
92090687496. 4

Question Number : 75 Question Id : 92090622141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The first Jawed vertibrates (Placoderms), arose in which period?
(1) Cambrian
(2) Ordovician
(3) Devonian
(4) Silurian

Options :



92090687497. 1
92090687498. 2
92090687499. 3
92090687500. 4

Question Number : 75 Question Id : 92090622141 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687497. 1
92090687498. 2
92090687499. 3
92090687500. 4

Question Number : 76 Question Id : 92090622142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

When phospholipid 15 added and shaken up with water, micelles may form. Which of
the following is true regarding micelles?

(1)  Tiny spheres of lipids with hydrophobie tails outwards in contact with water

(2)  Tiny spheres of lipids with hydrophilic heads outwards in contact with water

(3)  Tiny spheres of lipids with randomally arranged hydrophobic and hydrophilic
heads

(4)  Tiny spheres of lipids with hydrophic heads away from water

Options :

92090687501. 1
92090687502. 2
92090687503. 3
92090687504. 4

Question Number : 76 Question Id : 92090622142 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1
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Options :

92090687501. 1
92090687502. 2
92090687503. 3
92090687504. 4

Question Number : 77 Question Id : 92090622143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following 1s the genetic material in Human Immunodeficiency Virus
(HIV)?

(1) DNA
(2) RNA
(3) Chromosomes

(4) DNA and ENA hybrid molecule

Options :

92090687505. 1
92090687506. 2
92090687507. 3
92090687508. 4

Question Number : 77 Question Id : 92090622143 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687505. 1
92090687506. 2
92090687507 3
92090687508. 4

Question Number : 78 Question Id : 92090622144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following states 1s known for conservation of wild citrus?

(1) Arunachal Pradesh (2) Manipur
(3) Meghalaya (4) Sikkim
Options :

92090687509. 1
92090687510. 2
92090687511. 3
92090687512. 4

Question Number : 78 Question Id : 92090622144 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Prafefra 3 @ R Wrea B ohTel Figd (@rses Rice) 3 e 3 Ry S s &2

(1)  3EUTEd UcHl (2) AR
(3) WYY 4) Tafden
Options :

92090687509. 1
92090687510. 2
92090687511. 3
92090687512. 4

Question Number : 79 Question Id : 92090622145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Arrange the following in increasing order of land area :
(A)  Afries

(B) Europe

{(C) North and Central America

(D)  Oceania

() South America

Choose the correct answer from the options given below :

(1) A)<B)<(E)<(C)<D) (2) (A)<(C)<(B)<(E)<(A)
(3)  (B)=(D)=<(E)<(A)=<(C) (4) D) <(E)<(C)<(B)<(A)
Options :

92090687513. 1
92090687514. 2
92090687515. 3
92090687516. 4

Question Number : 79 Question Id : 92090622145 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafad &1 4&F & RIg vH § saaiiyd DI

A, 3BT

B. M

C. IR Ud AL AR

D. Sl

E. cf&ur emfven

414 fdw 7 faweul # 9 9l IR g .

(1) A<B<E<C<D (2) A<C<B<E<A
(3) B<D<E<A<C @4 D<E<C<B<A
Options :

92090687513. 1



92090687514. 2
92090687515. 3
92090687516. 4

Question Number : 80 Question Id : 92090622146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 -

List 1 List 11
(Biosphere Reserves) (State)
(A) Agasthyvamalai (I) Assam
(B) Amarkantak (I) Odisha
(C) Manas (III) Madhya Pradesh
(D) Similipal (IV) TamilNadu

Choose the correct answer from the options given below:

(1) (A)-(IID), (B)-(IV), (C)-(II), (D)-(I)
(2)  (A)-IV), (B)-(ITD), (C)~(I), (D)-(IT)
(3) (A)-(IV), (B)-(LLI), (C)-(1L), (D)-(D)
(4)  (A)-(IID), (B)-(IV), (C)-(I), (D)-(II)

Options :

92090687517. 1
92090687518. 2
92090687519. 3
92090687520. 4

Question Number : 80 Question Id : 92090622146 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



= | g 1 & 9y GAferd S

| Tt -
(A) SFTRIHETS () SrH
(B) SHHIdhcH () sffgEn
(C) WY (1) Heaue
(D) Towediara (v) dfferg
Ara fag 7 fasedl | 9 Het IR g

(1) (A=), (B)-(V), (-1, (D)-(1)
(2)  (A)-(V), (B)-(li), (C)-(1), (D)-(11)
(3) (A=), (B)-(1n), (C)-(H), (D)-(1)
(4) (A=), (B)-(IV), (Q)-(1), (D)-(1)

Options :

92090687517. 1
92090687518. 2
92090687519. 3
92090687520. 4

Question Number : 81 Question Id : 92090622147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Methanol, also referred as wood aleohol, was initially produced

(1)  wvia yeast derived fermentation of glucose
(2) by destructive distillation of wood
(3) by esterification of mil derived from plant source
(4) via fermentation of starch in Kernels of corn
Options :
92090687521. 1
92090687522. 2

92090687523. 3
92090687524. 4



Question Number : 81 Question Id : 92090622147 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AYATa, Sifds $TE Uchigd I HeT AIdl &, YRR # 9 ¥ 5y faftl gr1 Ianfed grar ur?

(1) TS & [BUa § s O & Areaw ¥

(2) 18 & faedwdl smaad g

(3) UG Hid ¥ I adl & 3D GRI

(4) HHS B T U H W (1) F Hvad & e

Options :

92090687521. 1
92090687522. 2
92090687523. 3
92090687524. 4

Question Number : 82 Question Id : 92090622148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the coal types from lowest to highest rank?
{A) Brown coal
(B) Sub bituminous
{(C) Hard coal

(I  Soft coal

Choose the correct answer from the options given below :

(1)  (B), (A), (D), (C) (2) (B), (D), (A). (C)
3 (A (B) (D). ) (4) (A), (D), (B), (C)
Options :

92090687525. 1
92090687526. 2
92090687527. 3
92090687528. 4

Question Number : 82 Question Id : 92090622148 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

$OA & USRI &1 FUdH T I=dH 4 & F9 § Faieyd S
A SIS (M) HIGE

B. VSNgHAY S

C. SOR BT

D. HdaMH $Hdl

A1 fRg g 9ol § § wel IR gAY

() BADC 2 B,DAC
(3y ABDC 4 ADBC

Options :

92090687525. 1
92090687526. 2
92090687527. 3
92090687528. 4

Question Number : 83 Question Id : 92090622149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements :
(A) The pH of unpolluted natural rain water is ~5.6
(B) H:50; and HNO; are predominat acids in acid rain
(C)  Acidic rainwater have pH less than 5.6
(D)  Acid rain affect monuments, buildings and soil fertility

(E)  Neutral pH of unpolluted natural rain water is 7

Choose the correct answer from the options given below :

(1) (B), (C), (D) and (E) only (2) (B), (C) and (E) only
{3) (A), (B), (C) and (D) only (4) (A), (B) and (C) only
Options :

92090687529. 1
92090687530. 2
92090687531. 3



92090687532. 4

Question Number : 83 Question Id : 92090622149 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
el YA IAT:
A. UM WHidd a9 ofd &1 pH ~5.6 B1dl &
B. H2S04 3R HNO: 377 a9 & TiE S Bid & |
C. 3% aui ofd BT pH 5.6 ¥ ®H Il B
D. 3d aui WIRS! 9yl Ha-i 3R §al Idxdl S WHIdd &l g

E 3Wd ugsfas auf ofd &1 ISRH pH 7 ST &1

1 38 7 fasedi 7 ¥ Ul fadseq 947

(1) &ddB, C, D3RE (2) HddAB, C3RE
(3) HAdAA B, C3RD 4) HAAA B3ARC
Options :

92090687529. 1
92090687530. 2
92090687531. 3
92090687532. 4

Question Number : 84 Question Id : 92090622150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [: London smog event was a suitable example of classical fog.

Statement I1:  Classical fog 1s characterised by high concentration of unburnt
carbon soot as well as elevated levels of atmospherie sulfur dioxide.

In the light of the above Statements, choose the most appropriate answer from the
options given below :

(1) Both Statement [ and Statement 11 are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but statement Il 1s incorrect

(4) Statement [ is incorrect but statement I is correct

Options :

92090687533. 1
92090687534. 2
92090687535. 3
92090687536. 4

Question Number : 84 Question Id : 92090622150 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR dsyRAME:

HUT| ;W YHBIE URHe A He H1 ST ITeW §

YA 3Ee Bled Y2 I Y50 & GY-H1Y IGHSHY b S8 HdHI5s H1 gg1
g3 TR oMeef Sy o sifanafma g1

Suded Sl & e A, 14 ol T faeedl # 9 uel 3w A

(1) YT IR FYF 1| S T B
(2)  HY | 3R B 11 ST T
(3) YA Hel B, fbg HYA 11 TTeId B
(4) @Y ITEd e, gy nade

Options :

92090687533. 1

92090687534 2

92090687535. 3
92090687536. 4



Question Number : 85 Question Id : 92090622151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are NOT greenhouse gases?
{(A) Ozone

(B) Water vapour

(C)  Carbon monoxide

(D)  Nitrous oxide

(E) Nitrogen dioxide

Choose the correct answer from the options given below :

(1) (A), (B) and (C) only
(2) (B). (C) and (D) only
(5] (C) and (E) only

{4) (A), (B) and (C) only

Options :

92090687537. 1
92090687538. 2
92090687539. 3
92090687540. 4

Question Number : 85 Question Id : 92090622151 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafafad 7 4 o9 divgrew e @ =12l &7

A, SfEH
B. Wddm
C. &HEAHASaEs

D. AIZcH s
E ARcSH SE3MauEs

a3 1A fowedl | ¥ wEl S g

(1) ®HadAA B3RC (2) @ddAB, C 3D
(3) HAACARE (4) HIAA B3R C
Options :

92090687537. 1
92090687538. 2
92090687539. 3
92090687540. 4

Question Number : 86 Question Id : 92090622152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Giiven below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) :  Ozone in troposhere is referred to as bad ozone.

Reasons (R) :  Fifty percent of ozone is troposphere is emitted directly from fossil
fuel combustion and rest comes from stratosphere.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 15 true but (R) 15 false

(4) (A) 15 false but (R) 1s true

Options :
92090687541. 1



92090687542. 2
92090687543. 3
92090687544. 4

Question Number : 86 Question Id : 92090622152 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I Py A 3R T% R WS S HYF A E:
FUFYT A - &HHST H Ul oF ard 36l &1 @ S6H & 4 8 G4 A dl 8

FRUR aiyHsd H garg Ulaerd Sfieid T dR W Siared 5449 g4 9 Sa&feid
gl & SR 2N 3Gl UHaY Had ¥ 3M1dl g1

Suda Byl & s1ad #, 1 138 713 f9wedt # 1 uel Iw g

(1) AJARREH G818 aUTR, A HI &I AR 8§

(2) ASRRIH G T R A S TS RN AL &
3) AGAE BgRIEIE

(4) AT E, fgREER

Options :

92090687541. 1
92090687542. 2
92090687543. 3
92090687544. 4

Question Number : 87 Question Id : 92090622153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a criteria air pollutant under National Ambient Air
Quality Standards?

(1)  Ozone (2) Carbon monoxide
(3) Carbon dioxide (4) Sulfur dioxide
Options :

92090687545. 1
92090687546. 2
92090687547. 3
92090687548. 4



Question Number : 87 Question Id : 92090622153 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AP gRa=) 9Ty Ui HFE & Siarid g U S bed a1 UghS el o7

(1) e (2) HEA A HRES
(3) e SRS 4) U SEHGES
Options :

92090687545. 1
92090687546. 2
92090687547. 3
92090687548. 4

Question Number : 88 Question Id : 92090622154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following bacteria are involved in nitrification process in nitrogen cvcle?
(A) Pseudomonas
(B) Nitrobactor

(C) Nitrosomonas

(D) Bacillus

Choose the correct answer from the options given below :

(1) (A) and (B) only (2) (A)and (C) only
(3) (C) and (D) only (4) (B)and (C) only
Options :

92090687549. 1
92090687550. 2
92090687551. 3
92090687552. 4

Question Number : 88 Question Id : 92090622154 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AgereH 9% B A3t ufdan 7§ wnftra Saif fufrf@a A asa 3 8

D. df¥eH
= f2h 1 et § ¥ 9dl S g

(1) HaaANRTB (2) HIAARC
(3) HAACSIHRD (4) ad B3R C

Options :

92090687549. 1
92090687550. 2
92090687551. 3
92090687552. 4

Question Number : 89 Question Id : 92090622155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Within the dissolved fraction, inorganic P (dissolved inorganie phosphorous) oecurs as

(1) Metaphosphate (2) Pyrophosphate
(3)  Orthophosphate (1) Organic Phosphate
Options :

92090687553. 1
92090687554. 2
92090687555. 3
92090687556. 4

Question Number : 89 Question Id : 92090622155 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fFaftd fim dhawm) # sipee P (Rafid spHiRe BieeRy) Ryfufea 9 7 Jufeq
gidl &

(1) HeTHIEhe (2) URABEhEE
(3) oyl wrEhe (4) HEAE B
Options :

92090687553. 1
92090687554. 2
92090687555. 3
92090687556. 4

Question Number : 90 Question Id : 92090622156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

All forms of mercury are potent toxin. Which form of Hg is most readily absorbed and
bioaccumulated?

(1) Hg" (2) Hg*!
(3) Hg+: (4) MeHg
Options :

92090687557. 1
92090687558. 2
92090687559. 3
92090687560. 4

Question Number : 90 Question Id : 92090622156 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R (UR) & Gt ¥ Aidaamed snfay g1 € | Hg &1 &F §1 ¥4 Haliys Aedl yde
faefid iR S Gafld giar g7

(1) Hg° (2) Hg"
(3) Hg" (4) MeHg
Options :

92090687557. 1
92090687558. 2
92090687559. 3



92090687560. 4

Question Number : 91 Question Id : 92090622157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measure of the minerals and salts that can be dissolved in water is referred to as

(1) alkalinity (2) turbidity
(3) salinity (4) acidity
Options :

92090687561. 1
92090687562. 2
92090687563. 3
92090687564. 4

Question Number : 91 Question Id : 92090622157 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
o § fawfid e o 96 e @G 3R @aull 1 71 Sgard ¢

(1) &R (2) Sffaeral
(3) durdr (4) ST
Options :

92090687561. 1
92090687562. 2
92090687563. 3
92090687564. 4

Question Number : 92 Question Id : 92090622158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Human ear normally hears sounds originating from the vibrating objects with a
frequency between

(1) 2 and 2000 Hz (2) 2 and 20,000 Hz
(3) 10 and 20,000 Hz (4) 20 and 20,000 Hz

Options :



92090687565. 1
92090687566. 2
92090687567. 3
92090687568. 4

Question Number : 92 Question Id : 92090622158 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M dR W A & & Fafafaa J 3 feg erghi oy @9) ardt 3@ @l g4 82

(1) 23R 2000 Hz & s" (2) 23R 20,000 Hz & &g
(3) 10 37 20,000 Hz & &9 (4) 20 3R 20,000 Hz & &g
Options :

92090687565. 1
92090687566. 2
92090687567 3
92090687568. 4

Question Number : 93 Question Id : 92090622159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measure of mass of water vapour for a given mass of dry air (in g/kg) 1s referred to as

(1)  Absoclute humidity (2) Relative humidity
(3)  Mixing ratio (4) Specific humidity
Options :

92090687569. 1
92090687570. 2
92090687571. 3
92090687572. 4

Question Number : 93 Question Id : 92090622159 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e & § 3, 5 a9 & GeaH SR Y5 a1 & GHM @1 U (g/kg H) 87

(1) U saga (2) gl s
(3) Tofsa sFua 4y fafw smgar
Options :

92090687569. 1
92090687570. 2
92090687571. 3
92090687572. 4

Question Number : 94 Question Id : 92090622160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following zones in a river stretch will have highest biological oxidation
demand?

(1) Sewage discharge entry point (2) Sewage decomposition zone
(3) Septic zone (1) Top surface above decomposition zone
Options :

92090687573. 1
92090687574. 2
92090687575. 3
92090687576. 4

Question Number : 94 Question Id : 92090622160 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fofafad # 9 78 & 5y &3 7 Sfaw sraxiieo wi aifte gnfe
(1) difed va fageH uaw fawg
(2) HA AUged &

3) PP &=
(4) U9 &3 $ FW Pl ST Hde

Options :
92090687573. 1
92090687574. 2



92090687575. 3
92090687576. 4

Question Number : 95 Question Id : 92090622161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other is
labelled as Reason (R) :

Assertion (A) : Catalytic convertors are used in vehicles to reduce air pollution.

Reasons (R) : Catalytic convertors reduces particulate matter in tail end emissions
of vehicles.

In the light of the above Statements, choose the correct answer from the options given
below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) is true but (R) is false

{4) (A) 1s false but (R) 1s true

Options :

92090687577. 1
92090687578. 2
92090687579. 3
92090687580. 4

Question Number : 95 Question Id : 92090622161 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) AR RGH Ul € 9yl R, A T U&l RS &

(2) A SRR ¥l g, =g R, A B Gl A= el ©
3) AUSE fPgrI@AR

(4) AT Pgrugle

Options :

92090687577. 1
92090687578. 2
92090687579. 3
92090687580. 4

Question Number : 96 Question Id : 92090622162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
During municipal sewage treatment, biosolids are produced as a by-product of
{1) Primary treatment only

(2)  Biological (activated sludge) treatment only
(3)  Chemical (physicochemical precipitation of suspended solids) treatment only

(4)  All three, primary, biological and chemical treatments

Options :

92090687581. 1
92090687582. 2
92090687583. 3
92090687584. 4

Question Number : 96 Question Id : 92090622162 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090687581. 1
92090687582. 2
92090687583. 3
92090687584. 4

Question Number : 97 Question Id : 92090622163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT :

List I List 11
(Instrumentation/Technique) (Useful for)

(A) Hybridization (I)'  Purification of biomolecules

(B) Confocal scanning microscope (IT) Separation of proteins

(C) Western Blotting (IIT) Three-dimensional image

(D) Chromatography (IV) Location of complementary DNA

Choose the correct answer from the options given below:

(1) (A)-(I1L), (B)-(IV), (C)-(I), (D)-(1I)
(2)  (A)-(IV), (B)-(I1I), (C)-(II), (D)-(T)
(3)  (A)-(ID), (B)-(IV), (C)-(D), (D)-(I11)
(4)  (A)-(ID), (B)-(1), (C)-(IV), (D)-(I1I)

Options :

92090687585. 1
92090687586. 2
92090687587. 3
92090687588. 4

Question Number : 97 Question Id : 92090622163 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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(1) (A)-(n), (B)-(V), (C)-(1), (D)-(I1)
(2)  (A)-(V), B)-(l), (O)-(1), (D)-()
(3) (A=), (B)-( IV), (O)-(1), (D)-(IIN)
(4) (A=), (B)-(1), (C)-(1V), (D)-(li1)

Options :

92090687585. 1
92090687586. 2
92090687587. 3
92090687588. 4

Question Number : 98 Question Id : 92090622164 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(iven

below are two statements:

Statement [ : Accuracy is the degree of agreement between the measured value and

the accepted true value of the given parameter.

Statement [l :  Determinate error are random in nature and oceur when something

In the
helow:

(1)
(2)
(3)
(4)

went wrong during the measurement.

light of the above Statements, choose the correct answer from the options given

Both Statement [ and Statement Il are true
Both Statement | and Statement Il are false
Statement [ is true but statement 11 is false

Statement [ is false but statement Il 1s true

Options :

92090687589. 1
92090687590. 2
92090687591. 3
92090687592. 4

Question Number : 98 Question Id : 92090622164 Question Type : MCQ Option Shuffling : No Is

Question

Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
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(1)
(2)
(3)
(4)

Options :
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92090687589. 1
92090687590. 2
92090687591. 3
92090687592. 4

Question Number : 99 Question Id : 92090622165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Choose the incorrect statement about Atomic absorption spectrometer:
(1) It requires hollow cathode lamp

(2) It follows Beer-Lambert law
(3 It is based on absorption of monochromatic beam of light by atoms

(4) It requires only coloured solution for analysis

Options :

92090687593. 1
92090687594. 2
92090687595. 3
92090687596. 4

Question Number : 99 Question Id : 92090622165 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(4) 39U Haq [Nl §q i faeas @ snawadar gl ¢

Options :

92090687593. 1
92090687594. 2
92090687595. 3
92090687596. 4

Question Number : 100 Question Id : 92090622166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Average salinmity of sea water 15

(1) ~0.035% (2) ~0.35%
(3) ~3.5% (4) ~35%
Options :

92090687597. 1
92090687598. 2
92090687599. 3
92090687600. 4

Question Number : 100 Question Id : 92090622166 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Y5 ofd @I S ¥d daurdl gl &:

(1)  ~0.035% (2) ~035%
3) ~35% 4) ~35%
Options :

92090687597. 1
92090687598. 2
92090687599. 3
92090687600. 4



